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= Year 7/8      = CHANCE & DATA      = Worksheet 5
	1. Construct a histogram from the stemplot shown below.
    5 | 2 means 52.
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	2. Find the mean and median of the data in Q1. Which interval is the modal class?
    

	3. Find the lower quartile QL and upper quartile QU of the data in Q1.

	4. Find the range and interquartile range of the data in Q1.

	5. Construct a box plot to display the data in Q1.
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	6. Construct a box plot for the following set of data.
17, 5, 44, 89, 68, 72, 55, 53, 83, 9, 90, 19, 35, 58, 27, 81, 69, 70, 49, 84, 43, 72, 25.
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	7. Draw a line graph to show the following time series. Each entry shows the number of persons killed in traffic accidents in a year. 

1990
1991
1992
1993
1994
1995
1996
1997
1998
1999
625
750
605
582
610
593
557
581
549
506






	8. Refer to the table in Q7. Find the median number of persons killed in the first 3 years, in the middle 4 years, and in the last 3 years.

	9. Study the answers obtained in Q8 and comment on the trend of the number of persons killed in traffic accidents in a year.

	10. If the trend continues for the next 10 years, estimate the number of persons likely to be killed in 2006.

	11. If the same trend existed for the previous 10 years, what was the likely number of persons killed in 1988?

	Numerical, algebraic and worded answers.



2. Mean = 75.4, median = 74,


     modal class 70-79


3. QL = 65, QU = 87


4. Range = 45, IQR = 22


8. 625, 587.5, 549


9. Decreasing trend, decreasing


     by about 11 each year


10. About 460 


11. About 660
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